A
102
Qt < ‘ S
] VAN > AN 4Nk AN 4 = :lﬁ*ﬁjll~)|l’ 2 I\JK %l:'I-I]E
BAEXSOa—F X 53 ¥H 5 | AN | 2 E H 5 — ~
Q
8 ~
5 = s =L 37 7t B = S = 102
GA EHEHEES s = % 7-3 TX 75,76, 77 e it X X\ ™M= =2 R "
7—2 BFfRE A = B R
1 1 500
0 1? 2? 3? 4? 50M
h:-:-:- [ [ [ [ |
N
‘ - ; - /_ S
X = o — —
U 93 .89 ©‘||“““!@—’—"©'——_——
/4
-94.19
c=v.4l R BM™M.5 H=92.530
N 92.96 = 0= 6.35 N% \
1] o oe Z\ bT20l §r®ip
(1 7\ c=l4a.22
O
[ U |
-92.30 ’ I 1 BM.6 H=93.484 e
\ 9343
Os . FO X
% ’ o v N
N
N X
: N
a1.74 \[ ! —t /% AN \
SanES
ot
/%\-q’% 5
W) / ”&X%
O\Q X ) %
&) /g(\k%
ke ﬁ%.
95. 00 s
N ] _ I
BOos EOE E |
2% X Y 2 B X Y ' 90. 00
A-8 —50291 164 —43008.882 | MS-4 —50293 . 226 —43006.817
A-9 —50163.573 —43113.331| NO.578 —50289. 206 —43010.1 25 :'
M52 D) —50289.261 | —42997.420| I Pl1o-1| —50252.477 | —43040.353
M-5 —50289 .724 —42999.966| NO.579 —50250. 585 —43041.893 L
8-38 —50294.462| —43005.793| N0:580| —50211.889 | —43073.546 *ﬁ&:’? S=1:100 5. 00 =
M-6 —50165.934 —43111.137| NO.581I —50173. 184 —43105.198
NC);577 —50273.509 —429867.727 | M6l —50167.472 —431098.870
\ = R S o — |
MS-2 —5290.781| —43000.308| M6-2 —50165.312 | —a3(11.862 NO. 580 (EE12954#R. LB/ N1/3X) =
1P)IS —50294. 203 —43006.012 NO.582 —50139. 448 —43(41.958
M5=3 —50295.714| —43008.533| NO.583 | —50106.859 | —43(79.878 5 200 , 80.00
| - I —
|
o= . B - 4
I ' Y = —
S o 75.00
/ z -
— H=1:1000 _|
8
9' —
DL=70. 00
01800
O1650 2. 3% 165.774m 01650 2. 4% 157.995m
1.6%0 543.709m
== 3 A= =N £ N BIIX 8ITX 820. 028m 13T 165. 774m 12T 157.995m
EEEEN S=1:50
AR
AR THBR - BRS EEH12088  E/S/5R fesk
£R
RS B '
B A HERE 21— LG
[ - | T 11 1 | | | 1 | |
2|
£y 2 3 g 5 3 S 2 6
= > = = = = = &
—REI 5 A2 KOS
“RET auH—t R 1 L | T 1T 1 | | | 1 | | ;
[ar) [s2] [s2] 0 0 © — =} — ™ [=e] ~ r~ H
8 2 2§ 288 33 g 3 28 2 2
> S S 8§85 SS S & 83 R K
I T 1T 1 I I I 1 I I
100 275 ¢ 1800 75 100 150 ® 1650 150
=
= E s 3 S8 3S S e = QIR 3 S m =
B .E ™= — AN O NN [SelNee) [9) © © O ©o ~ [=2]
© e kR R == o o o [=) oo — — — £ B
~ P~ r~r~r~o oo o0 O [s=] (=) 0 O O [ee] (o)
| T 1T 1 | | | 1 | |
T
o~ ) (=) O IO N [ N o~ — D N o~
B0 EERE g 8 & 83Y S g d 8RR g g
i 5 S €53 e g 2 88 & o 5T
(=] [=2] [=2] DO D [=23=2] (=) (=] (=) (=) — —
(=) (=) (=) 0 o0 o0 o0 o0 [=2] [=2] [=2] [=2] D [=2]
N N N AN AN N N N N N N N N N E
I [T IT 1 ] | | [ I I
™ N O~ N D [ee) 3
I P B g z & BRR g2 g g 58§ 2 8
" I=} @ ™ ©-—15 ~ =} o 0~ = I=} A
[Ye) [3r) <t 0 [Ye) [ap) [Ye)
X | T 1T 1 | | | 1 | |
AF—ILET AV HERE 1 —LE
~ =3 o) T o o — N e o ae
3 &5 5 - ~ =< QB 3 B8 — B8 B8 N—v
k S b b oAb -5 s s & & s S




-~ ~
P e e e - FEHAR)IIREE T K2 S5 102
BHAEXS O — K X 5> ¥8 b 5> 8 /N 5> ¥E =B E S /7) = 103 104
s =n s s e /-2 =JL T7 /2L pl2 >, >, [ | 103
GA SR S ® 7-1 TIX 77,78, 79 thE2 it X X H®BE = . "
6 BRERE A == B O#R
1 : 500
0 10 20 3 4 50M
EE | | | |
WBNEFR
| - 500
N\
N 0 0 o 2 20 40 Som
| co- | |
\oood i — 1'
E— ) :
—_ = Y/ Al
| 9, B2 g EiﬂLC
_— O Ly T T — — T T — L - e — O
F’:“E—':‘E??_‘—'Zéz‘%wfi == = So—— —
—_—— = 5
|tf"
=L
|15l
> - 0 ;&:ﬂ [ 3] @ ® ® ® Em O ® (i3
(7 {2 a
chJo 2.2% 550.98m
Moar—2 — B - i : - SNOSHSU _ Ssgex 612
—_— — = =L I I
ANALEPIDEEZ /
01512 X= -49981. 368 /
- b= 209 Y= -43344. 580 /
- C =17.17 Y ih
// /
fayg AR E DR /
\ X= -50062. 820 /
>§ Y= -43231.417 y /
ARERDER y /
X= -50023. 576 / /
N Y= -43285. 081 N / )
X <~ /7
N v v/ /
ZSPERN / /
)‘@ N J
V% N il /
\\ ﬂ)q, \ /
S /
%
&
& 2 &
. I —
2 &5 95.00
H & B 2 B ] |
=2 & X - Y _|
A -0 -50064 862 | -43228.058 |
A -1l -50021.262 | -43288 478 %.00 |
NO 583 -50106 859 | -43179.878 ]
NO 584 -50074.270 | -43217 799 B
584 - | -50064 281 | -43229 42| B L L
584 -2 -50062 437 | —-43231.770 _ L
NO. 585 -50043 922 | —43257 487 N = . -
*ﬁl’—l.‘ﬁ S=1:100 85. 00
T-1 -50051 . 171 -43244 010 ]
M7-3 -50023 576 | -43285 08I B
M7 -2 -49981 368 | -43344 580 NO. 587 (EE129248 . FiE/NA/8R) - ! - -
T-2 -49919.710 | -43429 879 ] | ] B
585 - | -50025.004 | -43283 574 _ |
1. 950 80. 00
585- 2 -50023.283 | -43285 990 1 -
NO.586 -50014 418 | -43298.357 GL=95. 081 B
NO. 587 -49985.289 | -43338.996 I I As | As —
587 — | -49982 . 782 | -43342 494 B
587 - 2 -49981. 106 | -43344.92| S | & —
S = 75.00
NO.S88 -49956 109 | -43379 597 T —
NO 589 -49926.870 | -43420.157 { |
H=1:1000 _|
©
[=2]
[=>] p—
o
DL=70. 00
O1650 2. 4% 157.995m 01650 2. 7% 66. 472m 01650 2.2% 72.470m 01650 2. 2% 550, 985m
ot s ST . WITR 12T L=157. 995m -IR L=134. 992m 6TE L=1258. 806m
EEEERX S=1:50
R
&5 FAXE EE12958 LiBENN1/1X 1ERK
%A
BEEE A B
A B HERE 1 — L&
_ B | | [T | [T | [T 1 | |
T
t Y 2 g 2 2 & g 3 2
WERE 1 — L | | [T | [T | [T 1 | | ,
5 s & 3 S 8 2 883 2 8 8= = P
I5e) < < < < < < < O oW o [Te)
[=>] [=>] [=>] [=2) [=2) [=2N=>] [=>] D O [=>] [=2)
| | [T | [T | [T 1 | |
150 1650 150 &
. = =1 < oS < © < ~ X ON D ~ ~
e E 5 S S SO > S —_—— —_ N N» N ) <
— N —oi o ™ o™ ) ™» oo < < £ A
[ee) [ee) 0 0O O [=e] 0 oo (o) O ©0 0O O [ee) [=e]
%V)Q | | [ 1 | [ 1 | | [ 1 | |
o~ o~ ~ < o~ o © o~ AN ©© o~ o~
. g g 52 g 28 g g 8§ g g
3B 0 gE < < == < = - © :
= Q ST = 88 Q 2R3 Q =
= 8 S8 S 22 2 2 32 3 3
N N N N N N N N AN NN N N ﬁ
| | [ 1 | [ 1 | | [ 1 | |
[=3 o o = o o L © o o © o
=R ZEAE = 8 5 3 8 S ~ g 88 g 8
[Ye) [Ye) — ™ o~ — [Ye) <+ [Ye)
. | | [T | [T | [T 1 | |
HERAE1—LE AF—ILET A2k
(2] <t Lo © ~ (o) [=2]
. (o) @ — o~ [=e] — N @ o — N @ [=e] /\°_:)
Al =1 © © <+ = © TN © © oLl © ©
o o o o0 o O 0O o O 000 o o
= = [Ye) o = [Tonis} = = 1w = =




NO 592

592-1

fREEHEE

X

ik T IKIE S MR
BHERsSO—F X 5> 4E th 5> %8 IN 5> 3E = oI OE S *E *ﬁj I I DiLiS ~ 7 Jjﬁ = 103 104 105
GA B AR SIS #® 6 TIX 79 Jith 5% ~- TED € By [ ( Xmmz&xa= 104 ) s 7= g w6 5R
1 . 500
20 30 40 50M

100. 00
r]2] S,
FEBT s=1:100 B
N 5 — - ——
Al = Z B - —
. B I —
I —
95. 00
T-2 -49919.710 | -43429 679 NO.592 -49826.956 | -4353| 448 e
T-3 -49872 813 | -43491 286 592- | -49825 |00 | -43533 (84 —
T-4 -49775 850 | -43570.722 592-2 -49818 599 | -43539 286 =
T-5 -49699 295 | -436(8.211 592-3 -49811 815 | -43545 349 | 5.510 00.00 |
NO. 589 -49926 870 | -43420 157 592-4 -49804.93( | -43550 952 —
589 - | -49906. 104 | -43448 964 592-5 —49797.706 | -43556.26| aL=96. 254 ]
589 -2 -49900 694 | -43456 195 NO593 -49788.128 | -43562.810 " As ]
NO 590 -49897.254 | —43460 432 NO594 —49746.854 | -43591.030 —
590 - | -49895.017 | -43463.187 594—1. -49730 8Ol -43602 006 / 85.00 |
590 - 2 -49889 210 | -43469.995 s94 -2 49723 280 | -43606.870 - —
< p—
590-3 -49883 229 | -43476 662 594 -3 -439715.623 | -43611 534 =
590-4 -49876.995 | -43483.153 594 -4 —49707 75| ~43615.900 ]
560-5 ~49870.626 | -43489.535 NO.595 —-49704.521 -43617.556 —
Y = |
NO. 59 -49863 040 | -43496.838 595 -1 -49699.726 | -43620.016 C§F < 80,00
591 -1 -4983| . 703 | -43527 010 595 -2 -49691 685 | -43623.94 T —
H=1:1000 _
DL=75. 00
01650 2. 2% 550, 985m
=t S SH TS .
= 22 IS X s=1:50 BITK 6T L=1258. 806m
RF—ILETAV i IS E#&12954% LB/ q48R
. HREE B
| | | [ 1 | | | | | | [T | | | | | | | | | [ 1
© N <t < —
T #® Y 3 =3 S < g 5 %
=) =) =) =) o o o
| | | [ 1 | | | | | | [T | | | | | | | | | [ 1
e = S ® 88 S S G 2 &Q 8 88 = & S 8 s R 3 S p=3 e
[Te) [Te) W © © © < © < © < O © © © © ~ ~ ~ ~ ~ o oo <o
[=>) [=>) D D O D D D D [=>) D oD O D [=>) D [=>) D D D D D D O
Q | | | [ 1 | | | | | | [T | | | | | | | | | [ 1
oS
[=e] [=e] D 0 Lo (3] — <t (=] ™ [N Lo [=e] ™ — 0o o [=e] [¥) © < O
EES = T 2g8 & B & & R = 88 & & 8 35 8 g g 28 8] &8
< < < < < < < < < < < < < < < < < < Lo I o I 0 W0
66 [=e] [=e] [=e] O O [=e] [e¢) [=e] [ee) [=e] [e¢) 0 O [=e] [=e] [=e] [=e] [=e] [ee) [=e] [=e] [=e] O o0
%
| | | [ 1 | | | | | | [T | | | | | | | | | [ 1
o~ < Lo o™ N o © © o o~ <t o < [=] [=e] <t o o~ o~ D [¥e) — o™ N
B NEEEE g K £ 95 S = @ 2 g S 98 S > 2 & g g 2 & 2 2 g
) o ~ ™ o Lo < ™ N ) © ™ o < ™ N — ) ™ N — o o ™
~ (=] — o o [32) < Lo © ~ — o o ™ <t [¥9) © ~ o~ <t [Te) © © r~
< Lo Lo 0 w0 Lo [fe) Lo [¥o) Lo © © © [{e) [{e) [{e) (=) [Xe) ~ ~ ~ ~ ~ r~
D [«7) D D D D D D D D [« =)} D D [=>) [=>) D D (=) D (=) D O
o~ N N N N N N N N N N N N N N N N N N N N N N N
| | | [ 1 | | | | | | [T | | | | | | | | | [ 1
AF—IET AUk
— ~ o [ee) © o © 0 N © () © [{=) =} =} N
— 8 5 83983 3 8 8 3 3 g 23 5 8 5 8 S 8 I 8 g 8§
H e < o B~ o . o o S 5 O o o o o = o o © o o o3
Lo (el — < — s} —
| | | [ 1 | | | | | | [T | | | | | | | | | [ 1
[=23 o — o [a2) <t 0
[=e] — (o] D — (o] [3e) <t [Te) D ~— D — o~ [a2) <t 0o D [=2] — (o] [a2) <+ o
:EII = Lo | | (Yo uug| | | | | [¥e) I o | | | | | [¥e) [Ye) | | | | 0
g g 838 8 88 &8 & = 2 s 8 8 &8 g8 = g g & 38 3¢

iz E
PER
%R

m o~

B

Ry




1; *E ‘i:ij—l— > A“]E
D4 a 7
BMERS>O—F X 5> #7 55 %8 /N 5> ¥E = I} E S E J”/JII_, = ~ Kl_é [ — \oh 105 106

GA RS o o= % 6 TIX 79 e 55 3= /0 FiE BT [X ( XmEm&= 105 )

BRERB A = OB R

4 50M
| |
s, (=} - [
D 12954 |1z | | N
% | Ehib AR | H 4 \ | | ,
| || x="-49558 84t X% /] [ || || rr e ——
‘ ‘ | Y= -43677.034 0-6 80 ' ‘_ | N I
/( 1 b=11.35 )fj - _- | I
c:16.05 \ [ { | ] | ]
Ll o 1 \ I —
so7-2 99773 5974 995 e S e > | L ]} Il ’ o
1
NO, 60|
———— -0
__ 10051 %
\;j::
5
\
\
[N
T
, |
\
&02
\ N \
™
[0
QQ\V
A o‘b
105.00 @ i X &
R
o O R
FEBT ] s=1:100 _
Bl S R RS @ -
| &= X Y s B X Y 100. 00 N — |
T-5 -49699.295 -43618.211 597-2 -49587 055 -43668.372 NO. 598 (EHEHQ%—'%% J::ﬁlﬁ’fl\ox) /‘//
. 1] 2 - - ]
M7~ -49558 845 | -43677.034 597-3 | -49581 365 | -43670.452 _ [
S594- 2 -49723 280 | -43606.870 597 -4 -49575.623 | -43672.250
594- 3 -49715 623 | -436(1 534 597-5 -49569.700 | -43673.828
594- 4 -49707.751 | -43615.900 | NOS598 -49566. 069 | -43674.713 9. 220 95.00
NO595 -49704 521 | -43617.556 598-| -49560.973 | -43675 954
595 | -49699. 726 | —-43620.016 598-2 -49558.054 | -43676.619 6L=99. 915
595-2 -49691 .685 | -43623.914 598-3 -49543. 180 | -43679.855 — { H:”
595-3 -49683.476 | -43627.588 S98-4 -49534 389 | -43681 748 I_I As ' As
505-4 -49675. 176 | -43631 15| 598-5 -49525 596 | -43683 494 / 9000
595-5 -49666.826 | -43634.610 NO 599 -495(7.117 | -43684.819 S
NO 596 -49658.804 | -43637 739 599- | -49472 187 | -43691.841 3
596 - | -49624.920 | -43650.957 NO 600 -49467.735 | -43692.650
596 —2 -49616.685 | -43654 456 600 - | -49463.458 | -43693.428 N -
Ny = —
NO.597 -49612. 463 | -43656.479 600-2 -49454.658 | -43695.405 By S 85. 00
597 - | -49592.556 -43666.016 NO 601 ~49419.067 -43704 08| =
H=1:1000 _|
DL=80. 00
01650 2.2% 550.985m [6] ©O1650 2.2% 713 320m
Fara =g A= =N EO .
= ’7%*%3& S=1:50 HITR 6IR 1258. 806m
bk AR
RF—=INET AU H & AR EE12958# LEi#/N1/5R V354
F£8
B HEES B
| | | | | | | | | | | | | | [ 1 [T | | | | | [ 1 | | .
T B
+ Y 2 3 5 § g 2 S 2
S = = o o o o &
| | | | | | | | | | | | | | [ 1 [T | | | | | [ 1 | |
3
Q -
g o8 $2 & 8 £ g 8 g 8= 8 § 8 8 82 28 2 2 8 8 S8 ¥ g R
& 8 8 8 8 3 s g9 S 2 3 3 23 88 38’488 sgs g S
(b\%%g | | | | | | | | | | | | | | [ 1 [T | | | | | [ 1 | |
o [To) [Tp) ~ © D [=2] [¥p) (= © ~— ~ (o] < O © Lo D — ™ — —_— O — ™ [a2] EE.I g
oty = © © [=e] o o~ <+ © <t ~ oo [sr) [¥s) o (=2} [=2 3= oD O <t © @ [=] O — N <t N
EE S - - — 159 ~N ~ ~ 130} ™ ™ 4 & 8§ S S 9 S o o o o© ~ ~ ~ ~ )
B [T} [T} %) %) [T} I 1 W o W w0 0 0 WOLWw o o o I 0 o W0 7o) 75} ﬂ': A
[ee) [ee) [=e] [=e] [ee) [ee) [=e] [=e] o oo [ee) [=e] [ee) [=e] o o0 oo [ee) [ee) [ee) [=e] O ©O0 [ee) [=e]
Q
%% | | | | | | | | | | | | | | [T [ 1 | | | | | | | | |
o~ o~ [=e] ~— <t o~ o~ [a2) — N =) [=] [=2] =} 0 oN r~ — ™ © (=) o~ 0 N O [=2] o~
B hnER ¥ = = = = b= g 2 = g 2 ¥ 8 8 89 88 = = > g S YR =2 g
™ © ~ © o < e) 1) o ™ o - ~ ™ > o — © %) < ) o ™ ~ © ) 7
== R R 8 = & 8 & © S 8 8 3 3 93 S &8 8 5 88 8 S
D D (=) (=) D D D [=2] D D [=2) [=2] [=2] [=2] D D [=> N>} [=2] [=2] [=2] [=2] o O O (=) [=]
N N N N N N N N N N N N N N N N N N N N N N ™D MM ™ (5] [sel E
| | | | | | | | | | | | | | [T [ 1 | | | | | | | | |
AF—AETALE o o © ™ ™ o o —_ © — - ¥ o ~ oo w< ~ ™ < o~ o S © o e} 2
— g8 8 8 8 8 =2 5 8 = 8 8 5 ¥R &3 § 8 & & SR8 3 2
H ™ =<} =<} o =3 =<} © © < N B © © oW ™m WA e © © o o < < o © A
™ o~ — <t ™
| | | | | | | | | | | | | | [ 1 [T | | | | | [ 1 | |
[Te) © ~ [ee) D o —
D — (o] [a2) <t [Te) D — o D — (o] ™ <t 0 o — N ™ <t [Te) D —_ O — o (=) (N4
:EII =1 (Yo} | | | | | (Yol | | (Yo} | | | | I © | | | | | [¥e) | © | | © ~N v
’ s 8 8 & & 3 o S 8 o 5> b 5 5 >0 &3 S 8 8 o S S 8 o
= [Te) [¥e) [¥e) [Te) [Ye) = [¥e) [Te) = [Te) [¥e) [Te) [¥e) n = 0w [Te) [Te) [Ye) = n = © © =




